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| d&l: = This is a tree. H: IS = That is an elephant.

o o o
VN1 IS = Elephant goes. S{{: Td8Id = Goat stands.

(&N o\
J&1: RAId = Tree bears fruits.  {H: Yo[d = Rama reads.

3?1 &dl = This is a creeper. I (AT = That is a girl.
[N [N o\
ST Id8Td = Girl stands. HIAT FAMIA = Garland fades.

o\ o\
Adl J¥1d = Creeper flowers. SR dald = Sita speaks.

3?{ 9E4H - This is a flower. EIFI\'ZHEI = That is a vessel.
3 N\ ™N . N\
91 9dld = Vessel falls. A THIUd = Eye throbs.

¢« O\ o 3 o
9% dhdld = Flower blooms. H &HId = Face shines.
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. - - - H"d: | q: 9d: = That is a mango tree.
R ---W|@dll @A = That is Malati .
R o---d& §: 9<¢: = That is a banyan tree.

¥. - - - "HSH | dd_HHSH = That is a lotus.
¥ - - - ST | |1 A = That is Jati .

& - - - $gHA dd $YHH = That is a flower.

¥) The terminations (of verbal endings) of the Present Tense are - -
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FGHETZ: sabdasangrahah = Vocabulary

Q:m @l f ddn that

J&: m tree

&dl f creeper
959H n flower
=S P. goes
faBfd P. stands
FSid P. bears fruit
9afd P. reads

¥SEd P. withers

EE'-TH% bears floers
T P. speaks
qdid P. falls
T P. throbs
SHId P. shines
fasdld P. blooms
dd: m mango tree

d<:m  anyan tree

®HSH 1 lotus



